
What is a paradox?
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Communication
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Consistency (C)

Suppose Alice has identical initial knowledge
about the experiment and uses the same

reasoning rules as me.

Iam certain I am certainC ⑤that flice is certain that z=
thatz=8.
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A relevant example
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Game 1: A winning strategy
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Pr(win] = Pr(z=z or Y=x) = 1



Game 2 : Complementarity Game
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Magic Machine
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Defining condition : Pr[=zor=x3= 1



Building a Magic Machine
withoutgravity :

AttemptI
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Quantum whispering
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Building a Magic Machine
withoutgravity :

AttemptI
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Summary ofAlice's inferences
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Quantum collaboration paradox

Theorem

These assumptions are incompatible:

(Q) Quantum theory

(C) Consistency



Thanks for your attention
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